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e Please check that this question paper contains 8 printed pages.

e (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

® Please check that this question paper contains 26 questions.

e Please write down the Serial Number of the question before attempting it.

e |5 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(i) There are a total of 26 questions and five sections in the question paper.
All guestions are compulsory.

(i) Section A contains questions number 1 to 5, Very Short Answer type questions of
I mark each.

(iii)  Section B contains questions number 6 to 10, Short Answer type I questions of
2 marks each.

(iv)  Section C contains questions number 11 to 22, Short Answer type Il questions of
3 marks each.

(v)  Section D contains question number 23, Value Based Question of 4 marks.

(vi)  Section E contains questions number 24 to 26, Long Answer type questions of
5 marks each.

(vii) There is no overall choice in the question paper, however, an internal choice is
provided in one question of 2 marks, one question of 3 marks and all the three
questions of § marks. In these questions, an examinee is to attempt any one of the
two given alternatives.

dqug - A
SECTION - A
. 39T [OfeTe HIgHT ol 18T ST mRNA Shl SIS 1S & SHT ai% Id 8id & | 1

Write the two specitic codons that a translational unit of mRNA 1s flanked by one on
either sides.

2. Twelar AR sl Sara 9T ST el IREReE 5637 69 TR i gt § 2 1

State the type of interaction that exists between ticks and dogs.

3. oIt TOgM ¥ I Al H Ul ST aTel ShHAMEH! (OTRGET) THTe Fadsy | 1

Write the chromosomal defect in individuals affected with Klinefelter’s syndrome.

T U 7T o Rl TR 9T 39 Shlieh W i 9T iU S 3§ 9 H Heg il & | 1
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Identifty the picture and mention the vegetative part that helps it to propagate.

#r--"'-..

“b.-'

5. Yok SRS i ol H YohdH SRITE-RH 1 31T Hewd 9y | 1

State the economic value of Saccharum officinarum 1n comparison to S. barberi.

T - B
SECTION -B
6. VI TYUUT H TETEH 3T FHMEE R & 619 JdEy | 2

State the functions of Ribozyme and release factor in protein synthesis respectively.

7. FHEAREd o S ey 2
(a) cry IAC ST
(b) RNA &ATHT (RNAI)

Write the functions of
(a) cry lAC gene
(b) RNA mterference (RNA1)

. %

J

CFCs™ O3 —= 0,

!

(a) CFC &1 Q1 9 i@y |
(b) T& AT = TohT U SRS H ka3l & 2 2

£3

/

CFCs — O3 —>0»

|

(a) Expand CFC.
(b) How does it reduce ozone to oxygen ?
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9. W U HUY TJCIH Tl T A &l & Al TS0 (i) Hured & S €, 20 (ii) Furad &l

gl 2 2
3Terat

TRH ARA o T 3R IRUEE AR i A, % RN § 3¢ Jae ad71 379 -9 |

TS |

What happens to corpus luteum in human female if the ovum 1s (1) fertilized, (11) not
fertilized ?

OR

Write the difference between the tender coconut water and the thick, white kernel of a

mature coconut and their ploidy.

10. SNAGTAS & i 3T FHRES b U (21geT) o &g HROT TdTd gU [Gehrdig day aargd | 2

State the evolutionary relationship giving reasons between the thorn of Bougainvillea
and tendril of cucurbit.

ogqug - C
SECTION -C
[1. =Fa § ADA Il Sl RO ad180 | STaTTeh SSU—ART ¥ 38 ANTAT il 37 7eg Helt €92 3

Mention the cause of ADA deticiency in humans. How has genetic engineering helped
patients sutfermgdrem it ?

2. I & H YISTor-ohl THET T U HROT TJal & 6 &7 3T STA-[ohrar ot T i |
AFC & & | THS Y Ty b g il F & ool YT AR STA-HehAl &l 3Ta%5 T ol
& T5T9eh SHRUT 3eht SIS ST &THdT HHI &l Sl & | 3

Drinking water problem in our urban areas 1s caused mainly because we fail to protect

our water bodies. Explain how accelerated eutrophication chokes our water bodies to
death.

13. (a) WEH AR GEH IFERI (SR H AT Ty |
(b) BTA & S o=d & [T a5y T Ueh aiaT 8ial & 7 3

(a) Daifferentiate between benign and malignant tumours.

(b) Why 1s colostrum a boon to the newborn baby ?
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14.

ST 3G H Sl o S9-a bl Uesh 9T ST AT ¢ |
(a) 39 JHH HIRHIST H ATH IARY N ot &f STl a=df § 9 el g T 9T ‘X |

OTe fShaT TR & |
(b) Y’ T KT A9 TATSU a1 ST FIF WY T |
(c) “Z’ 9T &1 T qaTsU LT Tl &1 aTcAl SZAT3TT ohl Tl i | 3

This diagram above shows a part of the human female reproductive system.
(a) Name the gamete cells that would be present in “X’ if taken from a newborn baby.
(b) Name ‘Y’ and write its function.

(c) Name ‘Z’ and write the events that take place here.
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15.  SHereHr 1 373 foeprg &1 o7 Uh I GHIT H4dl & 2 SHERET | 3
3rerart

gTS] e & G A 1 a9 69 1 ol Hehd AT & 2 37 {8l &I SRRl 5 A
SATET ST 9T § UReEd ofl Tohd & | 39 Yeh o Uea 379 & ST 52T 81 Tehell & 9

How does the study of fossils support evolution ? Explain.

OR

What does Hardy-Weinberg Principle of equilibrium indicate ? List any two factors that

could alter the equilibrium. What would such an alteration lead to ?

16. T HEAT GRT &H aTet el &f A I & 9 T8 | 37 AT Bl 3cd~ A ot BRI &6
A9 SAT 99T HFel H 39 W & ShHUT b [aTe 9 Jarey | 3

Mention any two human diseases caused by round worms. Name their causative agents

and their mode of transmission into the human body.

17. (a) USEHED AR 2 H S FqEy |
(b) TANSHS T &Il & 2 IhT T ST hl Hifd o1 foham SIrem & 2 3

(a) Differentiate between exons and introns.

(b) What 15 a plasmid ? Why 1s 1t selected as a vector ?

18. TR 3TTsHHOT T I & ? SFTHHUT bl §F Ueh U-AU LMY dTele § 3120l SHTeT bl 31T |
T EW S o | [hqH Taeh offel I | e SfiT -y & 2 3

What 1s ecological succession ? Where and why would the rate of succession be faster

in newly created pond or a forest destroyed by a forest fire ?

19. 39 SERA A ATl T QTI-ghg T U 379 & & | MOET WI=IATEh! ¥ Mag i ghg ° 4
TP TETIdT HeTdl & 2 3

High yielding cattle 1s a good solution for food enhancement. How does the MOET

technology help to increase the herd size ?
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20. &S fohdl IRER | EEIECTET A9 T 1 SiceTd €, T SH URaR I a0 sl 70 e 9
BHITRICTAT T & o 3Tereh AT 8ict & | 3

(a) ﬁmaﬁr%ﬁm%?
(b) =T SR o T AT IdTET |

If there 1s a history of haemophilia in the family, the chances of male members
becoming haemophilic are more than that of the female.

(a) Whyisit so ?
(b)  Write the symptoms of the disease.

21. = AT ot TemTerdl & e el SMSaiaal sl T o4 J a7 fGaeha gt & 2 U fefa |
Sfiferd s @ % [T fhd TR 3FhieTd & ST & 2 3

Why do tribes who live in high altitude of Himalayas experience discomfort in
respiration ? How do they get adapted to survive in such a situation ?

22. U TG-Sk & SR WHRT Sl § [Hterad f&l O g arell G921t ohi SR Shifs 3
(a) TS o | oY dRgdl 57 doh [Uege eMM &1 WY |
(b) Ed 7 § oY Used o9 deh TR H & aTell "eal |
(c) WIoTEd TG T ooy dedd & deh TSI H & dTell HeAT |

Explain the events in-a normal woman during her menstrual cycle on the following
days :

(a) Pituitary hormone levels from 8 to 12 days.
(b) Uterime events from 13 to 15 days.

(c) Ovarian events-from 16 to 23 days.

gug - D
SECTION -D

23.  -AIIET T SO [RIIRT B R Sl STRAl I Tl o1 § FOMcHE ik 3T HLl § |
FTH el H M 8H & A 3T 310 el & G- faanaal & | foerest & o o
HIIGHH TR AT THT BT 3T THT UK 30 Thel o ST o hIg 3 UH HIIhT 3TRH
T TR Y 30 TEET & AT [7a1 ST e | 39 1T &l i H HIIHH [Hd TR 7eg
HT 9 ANAT HIT | 4

Peer pressure plays a negative role in triggering smoking habits 1n adolescents. As a
school captain list any two activities you would like to organize with the help of senior
students of your school and any other two activities you would like your school
authorities to organize for the students to tackle this problem. Explain how these
activities will help 1n doing so.
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24.

23,

26.

57/1

oug - K
SECTION - E

(a) ToT TSI (Feget SITH) /T Il & 2 THeh! SAeT fohe o & 2
(b)  TE VHIUTT e & [T Toh DNA o1 Uidehida STIEET BiaT €, HHow 311 el g7 U
T FIRT 1 S0 HINT | 5
ST
(a) SRS LR T ‘A’ 3R ‘B’ A6l Ush SUIA & aod 1 SeR 99 ‘O’ € | Ueh shiq ST
7€ QAL o I8 fF9 UK 9T & T | Qi & I8 i IV {6 39 Suid & 37 aeai
T Tt $eR-99e 1 & Thd © |
(b) STEEAT H SE-TTEl o AR YR S FRAT DT |
(a) What 1s Central dogma ? Who proposed it ?
(b) Describe Meselson and Stahl’s experiment to prove that the DNA replication 1s
semi-conservative.
OR
(a) A couple with blood groups ‘A’ and ‘B’ respectively have a child with blood
group ‘O’. Work out a cross to show how it 1s possible and the probable blood
groups that can be expected 1n their other off-springs.
(b) Explain the genetic basis of blood groups in human population.
rDNA TN RT 1= a4 & STUINT 3 AT i | 2
ST
(a) PCR & Ush QX 95k o (AT~ G0N &1 G0 HINT |
(b) TH UBR A [aEARA DNA 34 T & & U fomar STan € 2
Explain the application of rDNA technology to produce msulin.
OR
(a) Describe the different steps in one complete cycle of PCR.
(b)  State the-purpese of such an amplified DNA sequence.
(a) URNTEIRGH H HAIEhRARSHGH i WishaT ST SHHTTT S0 hifeTg | 5
(b) &I HITRT Aleil STTH AT H Teh AHihd RE ST |
AT
(a) WA DI IEhsTE AT T FRA T TRY | 3H ARG H FHAGEd Ga-TeT &
ATHISH hHITSTT TAT 37k 1 TARY ;
GIEAT YT, STERIOTSTAAT T ST FITSTehT |
(b) IRV %l UTshAT H TUegedl 31X o7 &M i YTHeER! ol SRAT HiTd |
(a) Describe 1n sequence the process of microsporogenesis in angiosperms.
(b) Draw a labelled diagram of a two celled final structure formed.
OR
(a) Draw a sectional view of a seminiferous tubule of human. Label sertoli cell,
spermatagonia and leydig cell on it and write their functions.
(b) Explain the role of pituitary and sex hormones in the process ot spermatogenesis.
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